
Graph the following inequalities

𝑦 ≥ 𝑥 − 1

𝑦 < 𝑥

𝑦 > −𝑥 + 4

𝑦 ≤ 3𝑥 − 2
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𝑥 + 4 < 0

−𝑥 − 3 ≥ 0

2𝑥 − 1 > 0

𝑥 ≤ 0

Graph the following inequalities
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𝑥ଶ − 4 < 0

𝑥ଶ − 4𝑥 + 3 ≥ 0

𝑥ଶ − 4 > 0

𝑥ଶ − 4𝑥 + 3 ≤ 0

Graph the following inequalities
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𝑥ଶ + 𝑥 − 6 < 0

(𝑥 + 3)(𝑥 − 1) ≥ 0

2𝑥ଶ + 5𝑥 − 3 > 0

(2𝑥 + 1)(𝑥 − 3) ≤ 0

Graph the following inequalities
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(𝑥 − 2)ଶ < 0

(𝑥 − 2)ଶ ≥ 0

(𝑥 − 2)ଶ > 0

(𝑥 − 2)ଶ ≤ 0

Graph the following inequalities
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(𝑥 − 2)ଶ + 1 < 0

(𝑥 − 2)ଶ + 1 ≥ 0

(𝑥 − 2)ଶ + 1 > 0

(𝑥 − 2)ଶ + 1 ≤ 0

Graph the following inequalities
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Graph the following inequalities

𝑦 ≥ (𝑥 − 1)ଶ − 4

𝑦 < (𝑥 − 1)ଶ − 1

𝑦 ≤ −2𝑥ଶ + 2

𝑦 > 𝑥ଶ + 4
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Graph the following inequalities

𝑦 ≥ 𝑥ଶ − 1

𝑦 ≻ −𝑥ଶ + 4

𝑦 < 2𝑥ଶ − 𝑥 − 1

𝑦 ≤ 𝑥ଶ + 𝑥 − 2
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Find the range of dimensions of a rectangle with an area less than 15 m² that has a length two meters 
more than it's width. 

Find the range of dimensions of a rectangle with an area of at least 6 m² that has a length one meter 
longer than twice it's width. 
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